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B.A./B.Sc. Honours Part-111 Examination, 2019

EcoNOMICS

PAPER-ECOA-V (A+B)

Time Allotted: 4 Hours Full Marks: 100
The figuresin the margin indicate full marks. e ST 547 F 5 T [ T 1
Candidates should answer in their own words AT TS G U ST AT Tl
and adhere to the word limit as practicable. ey P!

Use separate answer books for each Group.
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GROUP-A
fTen-s

1. Answer any two questions from the following: 3x2=06

fasfeie @-ce 76 elvss Teg wies

(@) What are the causes of trade between two countries?
vt R S 6 6 e Aifersy zce I 2

(b) What will be the shape of offer curve for asmall country and why?
G 7 (F0eiR 1T LRBRTEAIR SNFTS (Fo 278 (el 77 9

(c) What is meant by J-curve phenomenon?
J -4l 6 F#0e 6 QIR 2

(d) State Marshall-Lerner condition for successful devaluation of currency of any
country.

(e) What isinfant industry argument of tariff protection?

o THR &) et IS [ 9

2. Answer any one question from the following: 9x1=9
TS @-I 9 2ie Teq wies
(a) State and prove Stol per-Samuelson Theorem.
T FIRETACS 2SI FTC @ ¥l el
(b) Explainthe‘Swan’ diagram in the context of internal and external balance.
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(c) Can you think of a situation where demand conditions cause trade patterns that

viol

ate Heckscher-Ohlin theorem?
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3. Answer any three questions from the following:
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(i)

(iii)

(b) (i)

(i)

© @

(i)

() ()

(i)

State and explain the basic assumptions of Heckscher-Ohlin theorem.
(RI- ST Orge o1 Sl et GIIIRPics SoiEl#re Sl |

Establish the Heckscher-Ohlin theory of trade in terms of physical definition
of factor abundance.

TomiaafeR 2R R KSR AR Wesiios e @He-slem wel
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In what respect does Heckscher-Ohlin theory present an advancement over
Ricardian theory of trade?

&F7- ofer vl Feireia og worst BeFe & 9

Define and derive Trade Indifference Curve.

iy FRCorF @R FRe! wie ¢ @b e we

Extend Ricardian Comparative Advantage Model of Trade in a 2-country
n-commodity framework.

R gemnE e g6 o 8 N3RS TR CFGE TS S
Describe the possible effects of devaluation on domestic country.

TR SN Toi7 Jald SREETIRER ereReE 39T @i

Evaluate the elasticities and absorption approaches to counter primary and
secondary effects of devaluation.

SRR A ¢ Seae! eorefs fEE FRFReR (% Fiogrmer og
8 OIf3REe O 7ioa JeE Sl
What causes exchange rate to change?

e 23 oAzt FrReefl 5 & o

How equilibrium Exchange Rate is determined in Foreign Exchange
Market? What may be the effects of a rise in autonomous imports on
equilibrium exchange rate?

e @i reics ey [ 2w el Feife 20 e Fage simifae gfas
e oy [ 29 e aelfte 27 ¢

(iii) What is meant by Forward Market and Forward premium?

(€ ()

(i1)
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Define “effective rate of protection”.

FRIFFCR PR QR I A0 2

“For every quota, there is an equivalent import tax”: Explain with proper
illustration.

“elfeflb PIoR ACATF G FANASF 7o M A" Toge e M
St 1< Rese Fei

15x3 =45

5+8+2

(2+5)+8

5+10

4+(5+2)+4

5+10
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4.

GROUP-B
et

Answer any three questions from the following: 4x3 =12

faleTe @-@Il foai? are Ted wies

(& What is meant by merit goods? Do you think such goods should be provided by
the government?

‘(0 TRy ICE I 2 QN 0 IR A2 I JIJA (LG RPN LB AT 9
(b) What is meant by market failure?
AT ER JL 900 F Q@RI 9
(c) Explain the concept of ‘Laffer Curve'.
‘Laffer @iz «i=enfG i< e
(d) Distinguish between spite effect and purchase effect.
25 ACFF R “ARGS GFF 97 T AL 97 It
(e) What is meant by double taxation of saving?
LR TR PR T SR T (5 I 9

Answer any two guestions from the following: 14x2
fasfeie @-cea 76 elvse Teg wies

(@) Is there any difference between the burden of an internal debt and that of an
external debt? Explain the Ricardian view of government debt with arguments.

TS 8 AT A @R Ty 75 @Ie 21w Wz 2 FFA Ao TN E TRe
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(b) Why does the Pareto optimality condition differ in the presence of public goods?
How do you derive an optimum solution for the allocation of resources between
private goods and public goods?

TR TR SARSTS Pareto FI SRER =091 i 27 (& 9 @R 8 T
TR G T FI e 36+ AR T fF 2iwfors e 54 ¢

(c) “The equal sacrifice principle implies progressive taxation”. Do you agree with
this view? Give reasons for your answer.

“IT e i eifeRie s et w631 i & v Ifes e w3 9 (o
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(d) Write short notes on the following:
Tiwa Renefer Soir i fHre B @al
(i) Taxation on capital gain
YETLA| FCSR G2 TR
(i) Thefreerider problem and government intervention.
‘el ©ToE TGT YT 8 PG TBCFA |
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